o000 IIoogn #40 00

oooD 4.7 0O0D0O0OO0OO0ODOOOOODOOOOODOO

(1) /Oooe"’”dx 2) /100 ﬁd:ﬂ
3) / O; ﬁdw @) /O ~ cosadz

(1)I(N)=/Noefdmmmmmm

I(N) = /;{ex}dx:{ew]lzl—efv

0000 lim I(N)=1- lim N=10000

N——cc N——cc
0
/ e“dr =1
— 00

oooo

(2)I(M):/1Mx(x1+1)dq;DDDD

M 1 M1 1
/1 x(x+1)dx_/1 {w_x+1}dx
M

= {logx—log(x—l—l)] =logM —log(M + 1) — log1 + log 2
1

I(M)

M
= I log 2
ogM+1+og
OoOogd
i 100 = i log 5 +log?
- log(z\}linooM+1>+1°g2

= logl+log2=1log2

o0
1
DDD/ ——dx=log20000
1 z(x+1)

(3) I(M) /M L e, gV /0 ! 0000t =arctanLooooo- 2
= —dx = €T = ar R — =
0 4+J;2 ’ N 4+J;2 2 d.%‘
2 dx 4+ 2?2

— Q0000 — =
4+ 22 dt 2

DDDDT:arctan%DDDDD:E:OHMD[ID t:0—-T



gooooood

M T
1 1 dx
(M) = - dr=
(M) /0 4+x2dm /0 4+ 22 dt d

T 2 T
1 4 1T
= / S dt:/ —dt=—
o 4ta? 2 ) 2

0000M —»oco000 T—>%DDDDD lim I(M):%DDDDJ(N)DDDDDDDD

M —o0

0 lim J(N):%DDDEIDEIDD

° 1 . . T
/, Ty zdes T+ lim (V) = o

goog
M

M
(4)I(M):/ coszdr 0O0O00OI(M) = [sinx} :sinMDDDDA}im I(M)= lim sinM
0 —0

— 00

0
gbooooooboooooboobooooon

ggbd 48 00O r-r00000D0OODOO
00000000 y=vr?—-22(—r<Lz<r)0 2000000 100000000000

7r/: ( r2—x2)2dx:7r/r (rz—xz)dx

= T |:T’2I — 1I3:|
3 —-r

\%4

4
= —’]"3

3
gogoo

0000 4.9 y=2’0y=5:00000000000000000000000 20000
gbobooooooooooboooon

000000000 y=22000y=5:r0000 2000 2=0,50000000000
5:>22000000000 SO00000

5
S = /O(5x—x2)dx:[2x2—3x

000000000 x000000000000000000 VOOOO

00 R ={(z,y) eR?| 0<2<50<y<52}0000000000000000000
Vi0OO Ry = {(z,y) e R?| 0<2<50<y<2?}020000000000000000
00 Vv%,00000vV=w-V,0000

5
1
Vi= 7T/ (556)2 dr = 257 [3x3
0

r 31257
o 3



gooo

ggoo

ggog

304

20+

—1 1 2 3 4 5 6

0000 410 O0(00)=0)x(0000)0000000000000 000000000
00 kO0ODO0O00O0O0O0F=k:00000000 2000000000000000

ooowgooono

oood

0000411 00VOOOOOUOOO MOUOOOUOOOOOD (DOOODOOOOOOoOO0)
obobobooooobooooooobooooboobob0ob MO VOOOOOOoOODOODOD
gbooooO«0O0000000 -« ooobooooboboooobooooboboooaoon
gobooboobooobooboao

1%
goood (DDD)DDD TOOOOOOOOOoUoootooooooQg »Og v:V—?tD
goooog o0d
_dv _V
At T

M
oooooooooooog0 FO F=-MaOO F:TVDDDDDDDD Lo

T T T
L = / vdt = / vV — tht = | Vi— LtQ _ VT
0 0 T 2T |,



goboooooooo wao

gpood
goooooooobooooboooooooooobObo0o rooooooooooboo:tonooon

de
Oov(t)0000¢t0000O0OO Zzﬁ(t)DDDDDE:vDDDDDDDDDD Tooogo

L
OLoooooDooo a:%DDDDW:/ —Maod¢ODOOOOODO¢tOOOOOODODO
0

L
/ —Madl
0

o0oOoobooan

T
dv df
M=
/ dt dt d
/ M—vdt
/ Mvdv—/ Muodv

— Mv? MW
3], -3

00000000000D000000000000000000000000000000
0000 412 000000000 {(2,y) € R?| 22 +y?*<1,y20} 00000000000

D={(z,y) eR*| 22 +y*<1,y20}0000DO000 (Xg,Ye)0OOOOOOOO y
0000000000 Xe=00000000D(t) =Dn{(z,t)eR?| —co<az<oo}00
00D() 00000000000 (0,4)00000000D(t) 0000 2/1-20000y00
0<y<10000000000000y000¢000000000 pt)=2/1-¢20000
00000000000 Y,000000 KO

1
= / 2V 1 — t2dx

0

gbobbodbDt=sine0000000O00OO0O0 K:%DDDDDDDDDDDD MO

1
M = /Zt\/l—tzdx

0

2
0000000w=1-#*000000000000 M:§DDDDDD Yo O YeK=MDO

4
o0b000Ygs=—-—0000
3

o000 413 00O0O0OOOOODOOODOOOOD AROODOOOOOODOOOOOODO
goooo



goboboobobg rbo00ob0b0o0bbooobboobbooobb0 y=000000 2

2
gbooooboobOOoboooobooobo0 «=¢t000000000 %tQDDDDDDDD

2
gbooboooogo u(m):%ﬁDDDD 0<z<h0000000D0OO0OO0DOOOODO

O0o0o0o0o0o0oooono KOooooo
h h 2 2 h
K = /Oli(x)dm:/o szdx:[;%xﬂo:gr%
goooooooooo MO
2 2

h h h
B B ar? s [t 4w oo,
M = /0 zp(x)dr = ; ?m dm—[wx }0—47”71

3
oboooooooobo0 XegOOOOOXegM =K 0O0OO XG:ZhEIDIZIDDD[I x=nh

gbooooooboooon %DDDDDDDDDDD

gogoo *4.14 (x(t),y(®)) (to £t <) 0000000000 (x(tg),y(to)) = (x(t1),y(t1))
goooooooooooooooooo sSo

s=5 [ 01 (o () = Oy} ar = [ 01 2(t)y ()t

gbooooogd

ggboooaobood

- / § Z (ty(t)dt = —{x(t)y(t)]tlJr /tt x(t)y (t)dt

to to

t1

0000000 z(to) = z(t1),y(to) =y(t1) OO [x(t)y(t)] = 2(t1)y(t1) — x(to)y(to) =000

to

oooo- /tl ' (t)y(t)dt = /tl z(t)y'(H)dt 0000000

to to

S

3 [ teor® - Oun) i

= 5 [ etwiwa— [ oua

0 to

= 5 | e g [y oa

to

_ / 2Oy (B)dt

to

gooog



0000 415 r=f(0)=14cosf00000000000000000 (cardioid) 0000
00000000000000

() 00000000000

(2)0000000000000000000000

r=f(¢) 0000000000000 2,y 000000000 2(0) D00 0z(0) = (2(8), y(6))
0000z =rcosf,y=rsind 000000000x(0) = (14cosb)cosb,y(d) = (1+cosf)sinb
000000OcosA,sin 00027 0000000000LL2r 000000000 OO00OO
00 (z(2r — 0),y(2r — 0)) = (z(0),—y(¥)) DOODDOO0O0O00< < ~00000000
r<0<L2r 00000000 cO0D00000ODOOODOO0ODOOOL S OODOODOODOzO
goodoooobobooooobouooooao

2
2/ (0) = —sinf(1 +2cosf),y’(0) =2cos?0 +cosf —1 00002 (9)=0000 9:0’% 0

ooo0y' () =0000 ng,wDDDDDDDDDDDDDDDDDDD

T 2m
0 = = T
' 0| —1| — |- 0 +
T — | — | —
y |+ 4+ 0 |- — —
y | T |1 e
OO0 [ TN <]/ L |\

0000000000010000000«/(9) = (2'(9),y(8)=(0,0000000000000
0000000 z(),y(d)) 00000000000000000000000000000000
0000000000000 0000000000000000000000000000000
00000000000000000000000000000000

9=r0000000002/' (/) 0000 ¢—700000 /() 000000000000 —7

/
DDDDDDDDODDDDDDDDDDDD|;$;DDDDDDDwayzwwLyw»:

(—sinB(1 + 2cos6),2cos2 0+ cos — 1) 0O OO |2/ ()2 = (2/(0))* + (v (0))* = 2(1 + cos ) O
oon

=/ (0)] 2(1+cosf) V2

(2cos@ —1)y/1 + cosf 0000 —sinf(1 + 2cosb)
V2 2(1 4 cos6)
0 x
0000000 20 2000000000000000000000000000O000O000O

' () _(—sin9(1+2c059) (2(3089—1)\/1—1—(:059)

— 10000

ooooodd—-~0O0O0



0’5 1 15 2

(2)r=f(AD0000000000000000000000O

1 27 1 27
S = — ﬂWW:—/ (1 + cos 0)%d6

2 Jo 2 Jo
2

= / {1+2c059+1+€08(26)}d9
0 2

_ s

2

ooogooobooooooooooboboobooooooooboooooooobonD 414000000

S

/0 " o (0) (0)d0

27
/ (1+ cos6)(2cos? @ + cos @ — 1)df = 3%
0

oooo

0000 416 z=a(t)=t—t3,y=y(t)=1—-t*0000000000000000000
0oooo0

() 00000000000
(2)0000000000000000000000

1
uyﬂwzl—&%y@:~4ﬁummt:;vgmuuxﬁy:muzommmgmwzouu
0000000000000000

L 0 RN

V3 V3
g || 0 |+ |+]|+] 0 |-
xT — — | = | — —
y |+ + | +|0 || - |-
y [T i T10]1 !
OO N 1T 11~ 7




goboobobooboobooodg

0.81

0.6

0.4

(2 0000000 O0ODO0O0t=-100¢+=10000000¢t0 -100 10000000
(z(t),y(t)) 0000000000000 0OO00O0OOO0OUOOOOO SO0O00O0O000OO0 4140
gooogo

_ - 43\ (_ 443
s - /1 (t — %) (—4t%)dt

gooobooobooooonod S:%DDDD

gooobooboooooo 100 -1oo0obooboobooooboboboobog

/1 (t —t3)(—4t%)dt

-1

obooboobooooobooboooooboobobobotg =100 1000000000
goooboobooboooobobooobooboboobooooboboooooobooon

o000 4.17 0000 4100000000000

0000 415000000000 2/'(0) = (2/(0),y'(0)) = (—sinf(1+2cos8),2cos? 6+ cos § —
1O |2/ ()2 = (2/(0))* + ('(0))* =2(1 4+ cosf) 00 D0DO0000 LODOO

27
L = v/2(1 + cos 6)db

0

0
O00Ocosf =2cos? ——1000

2
2 27 T
L = / \/4cos2ﬁd9=/ cose'd9:4/
0 2 0 2 0
0 U

2
T ) 0
= 4 cos—df =4|2sin— | =8
0 2 2 o

0
Cos 2‘ db



0 / 5 0 0
DDDDCOSEDDDDDDDDDD 400825:20055DDDDDDDD

0
godbod 418 00OOO0OO0OOODOOO r:f(H):sin?’EDDDDDDDDDDDDDD

r=f) 0000000000000 2,9y 000000000 «(9) 0000x(0) = (2(0),y(h))
0 0
DDDDx7@%&yrﬁnﬂDDDDDDDDDx@)ﬁﬁ(g)c%@y@)ﬁﬁ(3)$n9

O00000DOcosh,sinf 000 2#DDDDDDDDDS1H<§)DDD 6rO00000000OO

00 (z(37+6),y(37+6)) = (z(0),y(A) 0000O000000LA<3r0000000000
000000000000

0 0 1 0
/() = 3sin® g8 g cos @ + sin® 3 (—sin6)
0 0 0
= sin® 3 {cos 3 cos B — sin 3 sin@}
0 0 0 40
= sin? 3 cos (3 + 0) = sin? 3 cos 35

6 . 46
0000y()0000000000000 y/(6) =sin® ¢ sin— 0000snX =000000

1
X=nr(nOODO0)0000cosX=000000 X:(n+2>7r(nDDD)DDEI z'(0) =0
3 9 15 21 3

3
goo0ooboooooooooooon
0 iw ETF 871’ ETF Eﬂ' 27‘( 27‘( 3
8 4 8 2 8 4 8
' 0] + 0 — — — 0 + + + 0 — — — 0 + 10
x — — — — — — — — «— «— —
y' 0| + + 0 — — — 0 + + + 0 — — -1 0
Yy T 7 e A U T ) ! !
oo / N~ |0 LN — |/ Nl = S N

fp=0000000000000OOOO 41500000000000000000000O
goboobooooooobooooboooobooobooooobooooooooobooOoooag
gboboooog



oob Looogo

0 460 0 460 0
1r\2 g2 a2 gV oy U
z'(0)°+y'(0)° = sin 3 Cos” = + sin 7 sin” — sin” 2
goo
3T 3
L = / sin* d0:/ sin? —d#
0 0
3T
1
= / (1—cos>d9
0o 2
1[ 3 29]3” 3
= —|0— —sin— = —
2 2 M3, T 2
ooo0oo

oooDo 419 00 Vz+4+,y=100000000

VeO0OOOOOz200000000000000 y2000000002z=1-,/y<10
O0z<L10000
000 y=f(zx) 0000000000 ¢t=20000000 LO

1 2
L:/Nl—i—(dy> dx
0 dfl;

d 1 dy \*
O000,y=1-vz00y=1-2/z+20000000 %zl—ﬁmm <y> -



2 1
l1-—+—0000000
T

NS

/12 R
= - =+ —dz
0 Vo ooz

1
0000x=t*00000000 L—2/ V2t? —2t+1dt 000000 u-t—;DDDDD

1/2
DDDDL—Qf/ \Ju2 + duDDDDDDDL_1+—1og<1+\f)DDDD
1/2 V2



